&7/~ DIRTFREAIC APPLICATION by MODEL

HONDA
CRF190R/R2

Bike | Year | Description Part number

ZETA
CRF150R 07-21  ZETA Aluminum FootPegs CRF250/450,CRF250L/M/RALLY Red ZE93-1022
CRF150R 07-21  ZETA Aluminum FootPegs CRF250/450,CRF250L/M Black ZE93-1020
CRF150R 07-21  ZETA F-Brake Line Clamp XR/CRF150 Blue ZE92-0107
CRF150R 07-21  ZETA F-Brake Line Clamp XR/CRF150 Red ZE92-0106
CRF150R 07-21  ZETA Forged Shift Lever CRF150R'07- Red ZE90-4012
CRF150R 07-21  ZETA Revolver Shift Lever Rep. Tip 23mm Ti-Color ZE90-3920
CRF150R 07-21  ZETA Revolver Shift Lever Rep. Tip Mount Straight Red ZE90-3902
CRF150R 07-21  ZETA Revolver Shift Lever Rep. Tip Mount Straight Black ZE90-3900
CRF150R 07-21  ZETA Revolver Shift Lever CRF150R'07-,KLX230 '20- Red ZE90-3012
CRF150R 07-21  ZETA Revolver Shift Lever CRF150R'07-,KLX230 '20- Black ZE90-3010
CRF150R 07-21  ZETA Launch Control Mini Motocross(150,85cc) Natural ZE89-7709
CRF150R 07-21 ZETA Launch Control Mini Motocross(150,85cc) Black ZE89-7705
CRF150R 07-21  ZETA R-Brake Clevis CR/CRF Red ZE89-5015
CRF150R 07-21  ZETA R-Brake Clevis CR/CRF Blue ZE89-5014
CRF150R 07-21  ZETA Qil Filler Plug CR/CRF/CRF250L,YZ/YZF/WRF, KLX Blue ZE89-2112
CRF150R 07-21  ZETA Oil Filler Plug CR/CRF/CRF250L,YZ/YZF/WRF, KLX Black ZE89-2111
CRF150R 07-21  ZETA Oil Filler Plug CR/CRF/CRF250L,YZ/YZF/WRF, KLX Red ZE89-2110
CRF150R 07-21  ZETA Engine Plugs CRF250R'10-17, CRF450R/X, CRF150R Red ZE89-1120
CRF150R 07-21  ZETA Fork Guard Bolt Set 6pcs.Honda-2 Red ZE88-9112
CRF150R 07-21  ZETA Gas Cap CRF150 Red ZE87-0303
CRF150R 07-21  ZETA Gas Cap CRF150 Blue ZE87-0301
CRF150R 07-21  ZETA R-Brake Reservoir Cover CR/CRF Red ZE86-4103
CRF150R 07-21  ZETA F-Brake Reservoir Cover CR/CRF/KX450,Rear-CRF250L Red ZE86-1103
CRF150R 07-21  ZETA F-Brake Reservoir Cover CR/CRF/KX450,Rear-CRF250L Blue ZE86-1101
CRF150R 07-21  ZETA Drive Cover CRF150R'07-, CRF450R'05-07, CRF450X'05- Red ZE80-9045
CRF150R 07-21  ZETA AirFilter Holding Bolt 50mm Red ZE59-0102
CRF150R/RII 07-21  ZETA Stem Nut M24x30-P1.0 H12 Red ZE58-2123
CRF150R/RII 07-21  ZETA Stem Nut M24x30-P1.0 H12 Black ZE58-2121
CRF150R 07-21  ZETA FrontFork Cap CR85/RM85/CRF150R Red ZE56-10042
CRF150R 07-21  ZETA RSL-LowDown -20mm CRF150'07- Red ZE56-05012
CRF150R 07-21  ZETA FrameGuard CRF150RII'07- ZE52-0032
CRF150R 07-21  ZETA Throttle Tube Open End CRF150 '07- ZE45-8115
CRF150R 07-21  ZETA Throttle Tube Closed End CRF150 '07- ZE45-8015
CRF150R 07-21  ZETA Pivot C-Lever CP 4-Fin ZE42-4101
CRF150R 07-21  ZETA Pivot C-Lever CP 3-Fin ZE42-3101
CRF150R 07-21  ZETA Pivot B-Lever FP-M 3-Fin ZE41-3606
CRF150R 07-21  ZETA Pivot B-Lever CP-M 3-Fin ZE41-3206
CRF150R 07-21  ZETA Top Clamp COMP CR85 '03-, CRF150 '07- ZE12-1081
CRF150R 07-21  ZETA Top Clamp SX CR85 '03-, CRF150 '07- ZE11-1081
Z-CARBON
CRF150R 07-21  Z-Carbon Chain Guide CRF150 '07- ZC35-2100
Z-TITANIUM
CRF150R/II 07-21  Gr5-Ti Flange Bolt Set M8 40mm 4pcs ZT783-2404
CRF150R!/II 07-21  Gr5-Ti Flange Bolt Set M8 35mm 2pcs ZT83-2352
CRF150R!/II 07-21  Gr5-Ti Flange Bolt Set M8 30mm 4pcs ZT83-2304
CRF150R/II 07-21  Gr5-Ti Flange Bolt Set M8 30mm 2pcs ZT83-2302
CRF150R 07-21  Gr5-Ti Chain AjusterBolt/Nut Set M8 50mm 2pcs ZT38-5501
CRF150R/II 07-21 Gr5-Ti Sprocket Taper Bolt/Nut Set M8 25mm 4pcs ZT34-2504N
CRF150R/II 07-21  Gr5-Ti B-Disk FlangeBolt Set 6-M6 17mm 4pcs ZT31-0554
CRF150R 07-21  Z-Wheel Astelight Hub F CRF150R'07- Red W41-13113
CRF150RlII 07-21  ZW SUS Nipple D2 36pcs W33-D2368
CRF150R 07-21  ZW F-Wheel C2 1.60-19 CRF150R'07- W21-41919
CRF150R 07-21  ZW F-Wheel C1 1.60-17 CRF150R'07- W21-41919
CRF150R 07-21  ZW F-Wheel 1.60-19 CRF150R'07- W21-41911
CRF150RlII 07-21  ZW SUS304 Spoke Set R CRF150R2 '07- W10-21811
CRF150R 07-21  ZW SUS304 Spoke Set F AR1 Mini-A W10-21421
CRF150RlI 07-21  ZW SUS304 Spoke Set F CRF150R2 '07- W10-21411
CRF150RlII 07-21  ZW Steel Spoke Set R CRF150R2 '07- W10-11811
CRF150RlI 07-21  ZW Steel Spoke Set F CRF150R2 '07- W10-11411
CRF150R 07-21  ZW S30 Rim 19-1.60 32H-1 85SX Black W02-72311
CRF150RlII 07-21  ZW S30 Rim 19-1.40 28H-1 KX85/CRF150 Black WO02-71211
CRF150R 07-21  ZW S30 Rim 17-1.40 28H-1 KX85/CRF150 Black W02-51211
CRF150RlII 07-21  ZW S30 Rim 16-1.85 32H-2 CRF150 Black W02-43321
CRF150R 07-21  ZW S30 Rim 14-1.85 32H-2 CRF150 Black W02-23311
CRF150R/RII 07-21  Wheel Bearing Set R CRF150R/R2'07- DC601-1573
CRF150R/RII 07-21  Wheel Bearing Set F CRF150R/R2'07- DC601-1180
CRF150R 07-21  DC SUS Spoke Set Rear CRF150R '07- DC420-5017

CRF150R 07-21  DC SUS Spoke Set Front CRF150R '07- DC420-1015



&7/~ DIRTFREAIC APPLICATION by MODEL

Bike

CRF150R
CRF150R
CRF150R
CRF150R
CRF150R
CRF150R
CRF150R
CRF150R
CRF150R
CRF150RlI
CRF150R
CRF150R
CRF150R
CRF150R
CRF150R
CRF150R
CRF150R
CRF150R
CRF150R
CRF150R
CRF150R
CRF150R
CRF150R
CRF150R

07-21
07-21
07-21
07-21
07-21
07-21
07-21
07-21
07-21
07-21
07-21
07-21
07-21
07-21
07-21
07-21
07-21
07-21
07-21
07-21
07-21
07-21
07-21

Description

DRC
DRC Motard Foot Pegs CrMo CRF250/450'02-,CRF150R'07-,CR125/250'02-, CRF250L,CRF450L
DRC Wide Foot Pegs CrMo U-Wide CRF250/450'02-,CRF150R'07-,CR125/250'02-, CRF250L
DRC Wide Foot Pegs CrMo High CRF250/450'02-,CRF150R'07-,CR125/250'02-,CRF250L
DRC Wide Foot Pegs CrMo Mid CRF250/450'02-,CRF150R'07-,CR125/250'02-,CRF250L,CRF450L'19-
DRC FootPegs Spring/Pin Set CRF250L/M/Rally,CRF150R
DRC Brake Lever STD CRF150R, CRF250/450 -'06, CR'92-, XR'96-
DRC Clutch Lever Short CRF150R'07-, CR'84-03, CRM250, XR250
DRC Clutch Lever STD CRF150R'07-, CR'84-03, CRM250, XR250
DRC Rear Shock Spring CR80/85 96-, CRF150 08-, RM 85 65kgs
DRC Rear Shock Spring CR80/85 96-, CRF150 08-, RM 85 65kgs
Dura R-Sprocket 420-57T CRF150R,CR80/85'85-07,CRM50/80
Dura R-Sprocket 420-56T CRF150R,CR80/85'85-07,CRM50/80
Dura R-Sprocket 420-55T CRF150R,CR80/85'85-07,CRM50/80
Dura R-Sprocket 420-51T CRF150R,CR80/85'85-07,CRM50/80
Dura R-Sprocket 420-50T CRF150R,CR80/85'85-07,CRM50/80
Dura R-Sprocket 420-49T CRF150R,CR80/85'85-07,CRM50/80
Dura R-Sprocket 420-48T CRF150R,CR80/85'85-07,CRM50/80
Dura R-Sprocket 420-47T CRF150R,CR80/85'85-07,CRM50/80
Dura R-Sprocket 420-46T CRF150R,CR80/85'85-07,CRM50/80
Dura F-Sprocket 420-16 T CRF150R
Dura-Light F-Sprocket 420-15T CRF150R
Dura F-Sprocket 420-15T CRF150R
Dura F-Sprocket 420-14T CRF150R
DRC EX Joint Gasket CRF250'04-,XR250/400R'96-,DRZ400'00-, WR250R/X

Part number

D48-02-932
D48-02-832
D48-02-632
D48-02-532
D48-01-101
D40-11-002
D40-03-102
D40-01-102
D35-02-808
D35-02-808
D34-01-057
D34-01-056
D34-01-055
D34-01-051
D34-01-050
D34-01-049
D34-01-048
D34-01-047
D34-01-046
D331-307-16
D331-307-15L
D331-307-15
D331-307-14
D31-41-010



